Easy Improvisation 101

1. 8th note Variation Analysis

CT=chord tone
PT=passing tone

AT=approach tone

TT=target tone
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|2. 8th note Variation 2 Exercise
5 Cmaj7 Fmaj7 Em’ Am’ Dm’ G7 Cmaj7 (6
_’\9 '_F — I I —
GR =S el e
s - -Q = E & ~ =
7 — ~ = ) )
3. 8th note Var. 2 w/ syncopation
9 Cmaj7 Fmaj7 Em? Am? Dm? G (omit5)
—9 — —1 I —
Gyn d i: — | f ?A I S
[ [ ! | I
\ [ | - :-/ -; i ):J = F: i e i
e | / - | ol @z
| ' ! r | r




Improv 101 (2)

2
4. Original Line w/ sycopation (diatonic)
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|5. Original Line w/ Chromatic Passing Tones- CPT|
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|6. 8th Note Variation 2 w/ Chromatic PT and AT|
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|7. 8th Notes w/ Chromatic AT and Syncopation
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Improv 101 (3)

|8. 8th Note Concepts applied to song: Don't Blame Me|
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